
 

 
 

 

 

 
 
 
It’s time for the Ice Skating at the Winter Olympics! See if you answer the 
questions correctly and be in with a chance of winning gold!  

 

The scores are in!
 
 
 
 
 
 
 

What is the mode?  
What is the mean?  
What is the median?  

 
 

 

Each skater can perform a different number of jumps and spins on the ice.  
 

Can you work out the range and mode?  
 

 

 
 

 
 

  



 

 

 

 

 

 

 

 
 

The skaters complete a lap of ice rink and the time is taken in seconds.  
 

What is the mean? 
What is the median?  
 

 

People spent different amounts of money  
on buying tickets to watch the Ice Skating.  
 

What is the range?  
What is the median?  

 
 

 
 
 
 

 

 
 

 

 

 

 

 



 

 

 

 

 

Scores 

 

Mode = 6 

Mean = 5 

Median = 5.5 

 

Skating manoeuvres 

 

Range = 8 

Mode = 8 

 

Fastest Lap 

 

Mean = 120 

Median = 113 

 

Tickets 

 

Range = £9 

Median = £20.50 


